

TRADE PRESENTATION



WELCOME TO MILKIO

& the world's finest Grass-Fed Ghee & Artisan Butter!

Founded in 2016, we are a New Zealand-based company planning to become a global Ghee Butter sector leader.

Our mission is to make the tastiest, premium ghee and butter. Since our inception, we've succeeded in this through our high-quality dairy ingredients and authentically crafted, small-batch processing methods.

We are experts (and perfectionists) in our field, with the facilities, processes, and product range to meet an ever-increasing demand.

Our partnerships are profitable ones. We currently sell Grass-Fed Ghee, Grass-Fed Sheep Ghee, Grass-fed Goat Ghee, Blend Ghee, Pure Butter (Unsalted), Lactic Butter (Unsalted) & Buttery Spread (Lactic, Unsalted) in New Zealand and 27+ countries around the globe.



WHY MILKIO PURE UNSALTED BUTTER?

Zealand Unsalted Butter. Crafted exclusively from premium pasteurized cream derived from cow's milk, this butter redefines excellence in every detail. With an impressive 82% milk fat content, it delivers a fresh, creamy flavor and a superior buttery mouthfeel that enhances any recipe.

- ✓ Premium Quality: Made in New Zealand using state-of-the-art production processes to ensure superior food safety, consistency, and quality.
- ✓ Rich Flavor and Taste: The 82% milk fat content creates a luxurious texture and an exquisite taste that amplifies the natural goodness of your creations.
- ✓ Natural Ingredients: Contains 73% milk fat and 27% cream, with no added artificial ingredients.



PURE BUTTER (UNSALTED)



HIGH-QUALITY INGREDIENTS:

Containing 82% Milk Fat it offers fresh flavour and superior buttery mouthfeel. This product is produced in an advanced processing factory to ensure food safety, quality, and consistency

BATCH-MADE WITH CARE

We take no shortcuts and make no compromises when it comes to our clarification and crafting processes. Our approach is small-scale and quality-focused, with an emphasis on quality, healthful goodness, and taste.

PREMIUM TASTE & NUTRITION

It is excellent for baking cakes or cookies, making sauces, or sautéing purposes.

GLOBALLY INSPIRED INGREDIENTS

Made in New Zealand

It is free from genetically modified ingredients, antibiotics, growth hormones, MSG.

QUALITY ASSURED

Our quality standards are robust, our certification is up to date, and we always adhere to international food safety protocols.

SUSTAINABLE & TRACEABLE

Every batch of **Milkio Unsalted Butter** can be traced back.

We've designed each stage of our manufacturing process following the highest level of responsible and eco-friendly standards.

VERSATILE CULINARY APPLICATIONS

- ✓ Cooking, sautéing, barbequing, baking & confectionery uses
- √ Sauces/ dressing, spread
- √ Food services professionals and restaurants use
- ✓ Vegetarians





WHY MILKIO LACTIC BUTTER (UNSALTED)

Zealand Lactic Unsalted Butter. Crafted exclusively from premium pasteurized cream derived from cow's milk, this butter redefines excellence in every detail. With an impressive **82% milk fat content**, it delivers a fresh, creamy flavor and a superior buttery mouthfeel that enhances any recipe.

- ✓ Premium Quality: Made in New Zealand using state-of-the-art production processes to ensure superior food safety, consistency, and quality.
- ✓ Rich Flavor and Taste: The 82% milk fat content creates a luxurious texture and an exquisite taste that amplifies the natural goodness of your creations.
- ✓ **Ingredients**: Contains Milk Fat (73%), Cream (Milk) (27%), Lactic Acid (270), Starter Distillate



WHY MILKIO'S NEW ZEALAND BUTTERY SPREAD (LACTIC, UNSALTED)

Elevate your culinary experience with Milkio's New Zealand Buttery Spread (Lactic, Unsalted). Sourced from the finest ingredients and crafted in an advanced processing facility in New Zealand, this buttery spread is in a league of its own. Whether you're spreading, cooking, baking, or creating mouth-watering sauces and dressings, Milkio's Buttery Spread delivers a rich and creamy flavor that transforms every dish.

Exceptional Features

- ✓ 82% Total Fat Content: Made with 57% Cow's Milk Fat and 25% Vegetable fat for a rich and luscious texture.
- ✓ **Suitable for Vegetarians:** A perfect choice for those who maintain a vegetarian lifestyle.
- ✓ Rich, Buttery Flavor: Crafted to meet every taste preference with a smooth and indulgent taste.
- Versatile Uses: Ideal for cooking, baking, sautéing, barbequing, and more.
- ✓ Produced with Care: Crafted in a Safe Quality Food (SQF) certified and U.S. FDA-registered facility to ensure the highest quality and safety.

MILKIO LACTIC BUTTERY SPREAD



HIGH-QUALITY INGREDIENTS:

Contains 82% fat, with 57% derived from milk fat and 25% from vegetable oil. Delivers a smooth texture and rich flavor.

BATCH-MADE WITH CARE

We take no shortcuts and make no compromise when it comes to our clarification and crafting processes. Our approach is small-scale and qualityfocused, with an emphasis on quality, healthful goodness and taste.

PREMIUM TASTE & NUTRITION

Rich flavor and taste, suitable for elevating any dish, Crafted for Global use, offering a reliable choice for varied dietary needs.

GLOBALLY INSPIRED INGREDIENTS

Made in New Zealand using local and imported ingredients, ensuring premium quality.

It is free from genetically modified ingredients, antibiotics, growth hormones, and MSG.

QUALITY ASSURED

Our quality standards are robust, our certification is up to date, and we always adhere to international food safety protocols.

SUSTAINABLE & TRACEABLE

Every batch of **Milkio Buttery spread** can be traced back.

We've designed each stage of our manufacturing process following the highest level of responsible and eco-friendly standards.

VERSATILE CULINARY APPLICATIONS

Ideal for cooking, sautéing, barbequing, baking, and confectionery purposes. It is also excellent as a spread, condiment, or for creating sauces and dressings. Perfect for both home cooks and food service professionals.

WHY GHEE?



- ✓ Ghee is a wholesome, nourishing, and easily digestible alternative to butter and other cooking fats and oils.
- ✓ It has a long shelf life and doesn't require refrigeration.
- ✓ It has a high smoke point (485°F), which means it's suitable for various cooking styles, including frying, sautéing, and BBQing (it won't convert to harmful free radicals at high temperatures).
- ✓ Naturally rich in good fats and fat-soluble vitamins.
- ✓ It offers many health benefits, including boosting digestion, reducing inflammation, and strengthening immunity.
- ✓ As the impurities and milk solids are removed through clarification, it's suitable for lactose intolerant people and those on Keto or Paleo diets.



WHY MILKIO GHEE?



HIGH QUALITY DAIRY INGREDIENTS

We take the best quality ingredients to make the most flavorsome Ghee!

BATCH-MADE WITH CARE

We take no shortcuts and make no compromise when it comes to our clarification and crafting processes. Our approach is small-scale and qualityfocused, with an emphasis on quality, healthful goodness and taste.

NATURALLY DELICIOUS

Our ghee has a unique smooth buttery flavour, caramelised aroma and luscious texture that can only be achieved with the utmost patience and skill.

YOUR HEALTH AT HEART

Milkio Ghee is power-packed with good fats and fat-soluble vitamins. It is a rich source of beta carotene, Conjugated Linoleic Acid (CLA), and Butyric Acid

It is free from genetically modified ingredients, antibiotics, growth hormones, MSG.

It is free from Lactose, Casein and Gluten.

QUALITY ASSURED

Our quality standards are robust, our certification is up to date, and we always adhere to international food safety protocols.

SUSTAINABLE & TRACEABLE

Every batch of Milkio ghee can be traced back.

We've designed each stage of our manufacturing process in accordance with the highest level of responsible and eco-friendly standards.



MILKIO'S BUTTER RANGE

- ✓ Pure Butter (Unsalted)
- ✓ Lactic Butter (Unsalted)
- ✓ Buttery Spread (Lactic, Unsalted)

Product	SKUs	Tubs	Carton Box
Pure Butter (Unsalted)	4Kg, 25Kg	√	√
Lactic Butter (Unsalted)	4Kg, 25Kg	√	✓
Buttery Spread (lactic, Unsalted)	4Kg. 25Kg	√	/

SKU	NET WT. (KG)	DIMENSION (CM) H X W X L	UNITS (CARTON)	CARTONS /LAYERS	LAYERS/ PALLET	CARTONS /PALLET	NO OF PALLETS 20 FT	NO OF BOX / 20FT RF	NO OF PALLETS 40 FT	NO OF BOX / 40FT RF
Pure Butter (Unsalted)	4	20.5 X 36.5 x 36.5	4	6	8	48	10	1920	20	3840
Pure Butter (Unsalted)	25	28.6 X 24.2 X 37.3	1	12	3	36	18	648	26	936
Lactic Butter (Unsalted)	4	20.5 X 36.5 x 36.5	4	6	8	48	10	1920	20	3840
Lactic Butter (Unsalted)	25	28.6 X 24.2 X 37.3	1	12	3	36	18	648	26	936
Buttery Spread (lactic, Unsalted)	4	20.5 X 36.5 x 36.5	4	6	8	48	10	1920	20	3840
Buttery Spread (lactic, Unsalted)	25	28.6 X 24.2 X 37.3	1	12	3	36	18	648	26	936







Grass-Fed Ghee Clarified Butter – PET Jars

Product	SKUs	PET Jars
Grass-Fed Ghee Clarified Butter	250 mL	✓
Grass-Fed Ghee Clarified Butter (Round+ Straight pet jar)	400 mL	✓
Grass-Fed Ghee Clarified Butter	500 mL	✓
Grass-Fed Ghee Clarified Butter (Round+ Straight pet jar)	800 mL	✓
Grass-Fed Ghee Clarified Butter (Round+ Straight pet jar)	1.6 L	√

SKU	UNITS/ CARTON	CARTONS/ LAYERS	LAYERS/ PALLET	TOTAL CARTONS	TOTAL UNITS/ PALLET	DIMENSION (CM) H X W X L	PALLET (CBM)	PALLET HEIGHT (M)	PALLET WEIGHT (KG)
250 mL / 8 oz Pet Jar	6	35	19	665	3990	8.5 x 14.2 x 21.3	2.28	1.73	998
400 mL / 14 oz /363 g Pet Jar (Round)	12	16	15	240	2880	12.5 X 23.5 X 31.5	2.79	2.11	1124
500 mL / 16 oz Pet Jar	6	24	17	408	2448	9.9 x 18.7 x 28.1	2.37	1.79	1112
800 mL/ 27 oz / 726 g Pet Jar (Round)	12	8	16	128	1536	14 X 30.5 X 41	2.74	2.07	1183
1600 mL / 54 oz / 1451 g Pet Jar (Round)	6	10	13	130	780	17.7 X 26.1 X 52.3	3.19	2.41	1561





Grass-Fed Ghee Clarified Butter – Glass jars

Product	SKUs	Glass Jars
Grass-Fed Ghee Clarified Butter	250 mL	✓
Grass-Fed Ghee Clarified Butter	500 mL	✓
Grass-Fed Ghee Clarified Butter	1 L	√

SKU	UNITS/ CARTON	•	LAYERS/ PALLET	TOTAL CARTONS	TOTAL UNITS/ PALLET	DIMENSION (CM) H X W X L	PALLET (CBM)	PALLET HEIGHT (M)	PALLET WEIGHT (KG)
250 mL / 8 oz Glass Jar	6	35	15	525	3150	10 X 14.1 X 21.4	1.86	1.41	1298
500 mL / 16 oz Glass Jar	6	28	9	252	1512	15 X 16.3 X 24.2	1.93	1.46	1080
1 L / 32 oz Glass Jar	6	20	7	140	840	18.7 X 19.8 X 29.9	1.88	1.42	1093



Grass-Fed Goat Ghee Clarified Butter - PET & Glass Jar

Product	SKUs	Glass Jars	PET Jars
Grass-Fed Goat Ghee Clarified Butter	220 mL	✓	
Grass-Fed Goat Ghee Clarified Butter	500 mL	✓	✓

SKU	UNITS/ CARTON	CARTONS/ LAYERS	LAYERS/ PALLET	TOTAL CARTONS	TOTAL UNITS/ PALLET	DIMENSION (CM) H X W X L	PALLET (CBM)	PALLET HEIGHT (M)	PALLET WEIGHT (KG)
220 mL Glass Jar	6	35	15	525	3150	10 X 14.1 X 21.4	1.86	1.41	1298
500 mL / 16 oz Glass Jar	6	28	9	252	1512	15 X 16.3 X 24.2	1.93	1.46	1080
500 mL / 16 oz Pet Jar	6	24	17	408	2448	9.9 x 18.7 x 28.1	2.37	1.79	1112



Grass-fed Sheep Ghee - PET Jars & Glass Jars

· · · · · · · · · · · · · · · · · · ·			
Product	SKUs	PET Jars	Glass Jars
Grass-fed Sheep Ghee	250 mL	✓	✓
Grass-fed Sheep Ghee (Round+ Straight pet jar)	400 mL	✓	X
Grass-fed Sheep Ghee	500 mL	✓	✓
Grass-fed Sheep Ghee (Round+ Straight pet jar)	800 mL	✓	Х
Grass-fed Sheep Ghee	1 L	Х	✓
Grass-fed Sheep Ghee (Round+ Straight pet jar)	1.6 L	✓	Х
Grass-fed Sheep Ghee	18kg / 20L	X	X

SKU		CARTONS / LAYERS	-		TOTAL UNITS/ PALLET	DIMENSION (CM) H x W x L	PALLET CBM		PALLET WEIGHT (KG)
250 mL / 8 oz Glass Jar	6	35	15	525	3150	10 X 14.1 X 21.4	1.86	1.41	1298
500 mL / 16 oz Glass Jar	6	28	9	252	1512	15 X 16.3 X 24.2	1.93	1.46	1080
1 L / 32 oz Glass Jar	6	20	7	140	840	18.7 X 19.8 X 29.9	1.88	1.42	1093
250 mL / 8 oz PET Jar	6	35	19	665	3990	8.5 x 14.2 x 21.3	2.28	1.73	998
400 mL / 14 oz /363 g Pet Jar (Round)	12	16	15	240	2880	12.5 X 23.5 X 31.5	2.79	2.11	1124
500 mL / 16 oz PET Jar	6	24	17	408	2448	9.9 x 18.7 x 28.1	2.37	1.79	1112
800 mL/ 27 oz / 726 g Pet Jars (Round)	12	8	16	128	1536	14 X 30.5 X 41	2.74	2.07	1183
850 mL/ 28 oz PET Jars Pet Jars (Straight)	8	15	9	135	1080	17 X 20 X 38.5	2.17	1.64	1183
1600 mL / 54 oz / 1451 g Pet Jars (Straight)	6	12	5	60	360	18.5 X 26 X 38.5	1.37	1.04	1561



Pure Butter Ghee High Aroma & Natural (Ethnic Style) – PET Jars (Round and straight)

Product	SKUs	PET Jars
Pure Butter Ghee High Aroma Ghee (Natural)	400 mL	✓
Butter Ghee High Aroma Ghee (baklava ghee - Flavoured)	400 mL	✓
Pure Butter Ghee High Aroma Ghee (Natural)	800 mL	✓
Butter Ghee High Aroma Ghee (baklava ghee - Flavoured)	800 mL	✓
Pure Butter Ghee High Aroma Ghee (Natural)	1.6 L	✓
Butter Ghee High Aroma Ghee (baklava ghee - Flavoured)	1.6 L	✓

SKU	-	CARTONS / LAYERS	-	TOTAL CARTONS	TOTAL UNITS/ PALLET	DIMENSION (CM) H x W x L	PALLET CBM	PALLET HEIGHT (M)	PALLET WEIGHT (KG)
400 mL / 14 oz /363 g Pet Jar (Round)	12	16	15	240	2880	12.5 X 23.5 X 31.5	2.79	2.11	1124
800 mL/ 27 oz / 726 g Pet Jar (Round)	12	8	16	128	1536	14 X 30.5 X 41	2.74	2.07	1183
1600 mL / 54 oz / 1451 g Pet Jar (Round)	6	10	13	130	780	17.7 X 26.1 X 52.3	3.19	2.41	1561
400 mL / 14 oz /363 g Pet Jar (Straight)	12	20	11	220	2640	16.1 X 21.1 X 27.5	2.49	1.88	1030
850 mL/ 28 oz PET Jars Pet Jars (Straight)	8	15	9	135	1080	17 X 20 X 38.5	2.17	1.64	1183
1600 mL / 54 oz / 1451 g Pet Jar (Straight)	6	12	5	60	360	18.5 X 26 X 38.5	1.37	1.04	1561





Pure Butter Ghee High Aroma Ghee (Natural) – Tubs (Ethnic Style)

Product	SKUs	IML Tubs
Pure Butter Ghee High Aroma Ghee (Natural)	1 L	✓
Pure Butter Ghee High Aroma Ghee (Natural)	2 L	✓
Pure Butter Ghee High Aroma Ghee (Natural)	2 L	√

SKU	UNITS/ CARTON	-	LAYERS/ PALLET	TOTAL CARTONS	TOTAL UNITS/ PALLET	DIMENSION (CM) H x W x L	Pallet (CBM)	PALLET HEIGHT (M)	PALLET WEIGHT (KG)
1 ltr TUB (IML)	9	6	11	66	594	22.1 x 41.7 x 41.7	3.36	2.54	399
2 ltr TUB (IML)	6	6	9	54	324	15.5 x 52.5 x 52.5	1.99	1.51	325
4L TUBS (IML)	4	6	6	36	144	19.5 x 43 x 43	1.69	1.28	562





Pure Butter Ghee High Aroma Ghee (Natural) - Tins

Product	SKUs	Retails pack Tins
Pure Butter Ghee High Aroma Ghee (Natural)	400 mL	\checkmark
Pure Butter Ghee High Aroma Ghee (Natural)	800 mL	\checkmark
Pure Butter Ghee High Aroma Ghee (Natural)	1.6 L	√

SKU	UNITS/ CARTON	CARTONS/ LAYERS	LAYERS/ PALLET	TOTAL CARTONS	TOTAL UNITS/ PALLET	DIMENSION (CM) H x W x L	PALLET CBM	PALLET HEIGHT (M)	PALLET WEIGHT (KG)
400 mL / 14 oz /363 g TINS	24	12	9	108	2592	20.5 x 27.5 x 36	2.59	1.96	1037
800 mL/ 27 oz / 726 g TINS	12	8	14	112	1344	14 x 32 x 42	2.74	2.07	1076
1600 mL / 54 oz / 1451 g TINS	8	12	13	156	1248	15 X 30 X 58	2.72	2.06	1997





Pure Butter Ghee, Sheep Ghee, Blend Ghee – Tins & Tubs

Product	SKUs	IML Tubs	Sticker Tubs	Food Service Printed Tins	Sticker Tins
Pure Butter Ghee High Aroma Ghee (Natural)	10 L	√	X	X	X
Butter Ghee High Aroma Ghee (baklava ghee - Flavoured)	10 L	Χ	✓	X	X
Pure Butter Ghee High Aroma Ghee (Natural)	18kg / 20L	Χ	X	✓	Χ
Butter Ghee High Aroma Ghee (baklava ghee - Flavoured)	18kg / 20L	Χ	X	✓	X
Grass-fed Sheep Ghee (Clarified Butter)	18kg / 20L	Χ	X	X	✓
Blend ghee 70:30	18kg / 20L	X	X	Х	✓

SKU	UNITS/ CARTON	CARTONS/ LAYERS	LAYERS/ PALLET	TOTAL CARTONS	TOTAL UNITS/ PALLET	DIMENSION (CM) H x W x L	PALLET CBM	PALLET HEIGHT (M)
10L Tubs	1	16	5	72	80	262.2 T X 226 B	2	1.51
18Kg Tins	1	14	4	60	60	29.7 x 27.5 x 36.8	1.57	1.19



MILKIO GRASS-FED GHEE



Packed with what you want:

- ✓ High Quality Ingredients
- ✓ Keto & Paleo Friendly
- ✓ Suitable for Vegetarians







Suitable for vegetarians



Free of what you don't want:

- ✓ Gluten
- ✓ GMOs
- ✓ Preservative
- ✓ Lactose & Casein







Lactose Casein free



Made the way you like:

- ✓ SQF Certified
- ✓ Kosher
- √ Halal









Halal Certified

WE OFFER YOU UNPARALLELED QUALITY ASSURANCE



Milkio takes great pride in its approach to quality standards and food safety.

The company is taking part in the Registered Manufacturing Premises Food Safety Programme of MPI.

The company is HACCP-based RMP (MPI, NZ) and SQF certified.

The quality and various food safety certifications, such as Halal and Kosher, are as follows:



Halal Certificate



Kosher Certificate



Assure Quality Certificate



USFDA Certificate



SQF Certificate



RMP Certificate



Organic Exporter Certificate











NEW ZEALAND OFFICE MILKIO FOODS LIMITED 18 LINCOLN STREET, HAMILTON, 3204, NEW ZEALAND

Email: contact@milkio.co.nz

www.milkio.co.nz

Call: + +64 (7) 849 0965

WhatsApp: + 64 27 352 9125